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Answers

1. 1,862

2. 1,296

3. 560

4. 910

5. 792

6. 1,564

Use the array provided to solve each problem.

1) 38×49 =

30

40

8

(30 × 40)
1,200

(8 × 40)
320

(8 × 9)
72

9

(30 × 9)
270

2) 36×36 =

30

30

6

(30 × 30)
900

(6 × 30)
180

(6 × 6)
36

6

(30 × 6)
180

3) 35×16 =

30

10

5

(30 × 10)
300

(5 × 10)
50

(5 × 6)
30

6

(30 × 6)
180

4) 35×26 =

30

20

5

(30 × 20)
600

(5 × 20)
100

(5 × 6)
30

6

(30 × 6)
180

5) 33×24 =

30

20

3

(30 × 20)
600

(3 × 20)
60

(3 × 4)
12

4

(30 × 4)
120

6) 34×46 =

30

40

4

(30 × 40)
1,200

(4 × 40)
160

(4 × 6)
24

6

(30 × 6)
180



Name: Answer KeyMultiplying Using Arrays

Math www.CommonCoreSheets.com

Answers

1. 1,862

2. 1,296

3. 560

4. 910

5. 792

6. 1,564

Use the array provided to solve each problem.

1) 38×49 =

30

40

8

(30 × 40)
1,200

(8 × 40)
320

(8 × 9)
72

9

(30 × 9)
270

2) 36×36 =

30

30

6

(30 × 30)
900

(6 × 30)
180

(6 × 6)
36

6

(30 × 6)
180

3) 35×16 =

30

10

5

(30 × 10)
300

(5 × 10)
50

(5 × 6)
30

6

(30 × 6)
180

4) 35×26 =

30

20

5

(30 × 20)
600

(5 × 20)
100

(5 × 6)
30

6

(30 × 6)
180

5) 33×24 =

30

20

3

(30 × 20)
600

(3 × 20)
60

(3 × 4)
12

4

(30 × 4)
120

6) 34×46 =

30

40

4

(30 × 40)
1,200

(4 × 40)
160

(4 × 6)
24

6

(30 × 6)
180

1-6 83 67 50 33 17 0


	Worksheet
	Answer Key

